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RACES

1. Races: A contest of speed in running, riding, driving, sailing or rowing is called a race.

2. Race Course: The ground or path on which contests are made is called a race course.
3. Starting Point: The point from which a race begins is known as a starting point.

4. Winning Point or Goal: The point set to bound a race is called a winning point or a goal.
0. Winner: The person who first reaches the winning point is called a winner.

6. Dead Heat Race: If all the persons contesting a race reach the goal exactly at the same time, the race Is said {0
be dead heat race.
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RACES

INST PN

7. Start: Suppose A and B are two contestants in a race. If before the start of the race, Ais at the starting point and
B 1S ahead of A by 12 metres, then we say that ‘A gives B, a start of 12 metres'.

To cover a race of 100 metres in this case, Awill have 1o cover 100 metres while B will have to cover only (100 -
12) = 88 metres.

Ina 100 race, 'Acan give B 12 m' or 'Acan give B a start of 12 m' or ‘A beats B by 12 m' means that while Aruns
100 m, B runs (100 - 12) = 86 m.

6. Games: ‘A game of 100, means that the person among the contestants who scores 100 points first is the winner',

ITAscores 100 points while B scores only 80 points, then we say that 'A can give B 20 points'
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RACES

Ima 100 M race, A cCcan give B 10 m and C 285 mi. In the same race B can give

A, 1& m
B=. 20 m
- 20
D. =g

Answer: Option B
Explanation:

AT B = 100 - 90.
A2 =100 - 722

= A 0 100 =0
B . C = — W — = = = —_
ey Ll 100 = =

when B runs 920 m, C muns 72 m.

=

Wwhen B runs 100 m, < runs P

= 1[][]er‘| = SO .

-"- B Ccan give O 20 m.

2/17/2025 RACES/23GET276 - VQAR 11/].S.MINIMOL/CIVIL/SNSCT 4/15



RACES

A and B take part in 100 m race. Aruns at 5 kKmph. A gives B a start of 8 m and still beats him by 8 seconds. The
speed of B is:

A. 5.15 kmph
B. 4.14 kmph
C. 4.25 kmph
D

4.4 kmph

Answer: Option B

Explanation:

-

A'sspeed= | 5 X = misec = 2 m/sec
S 18) B e

18
Time taken by A 1o cover 100 m = [1 00 x E)sec = 72 secC.

. Timetaken by Biocover 92 m = (72 + 8) = 80 secC.

92 18
B's speed = 20 X 5 Kmph = 4.14 kmph.
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RACES

In a 500 m race, the ratio of the speeds of two contestants A and B is 3 - 4. A has a start of 140 m. Then, A wins by:

A. 60m
B. 40m
C. 20m
D. 10m

Answer: Option C
Explanation:
To reach the winning post A will have to cover a distance of (500 - 140)m, /.e.. 360 m.

While A covers 3 m. B covers 4 m.
_ 4
While A covers 360 m, B covers (5 X 360Jm = 480 m.

Thus, when A reaches the winning post, B covers 480 m and therefore remains 20 m behind.

. A wins by 20 m.
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RACES

Imna 100 M race, A beats B by 10m and C by 13 M. In a race of 180 m, B will beat C by
A, 2.4 m

B. A5 m
. =

D. =

Answer: Option D
Explanation:

AT B =100 - 90,

A1 C =100 : 8T.
B_B A _ 90 _ 100 _ 30
c A C 100 87 29’

When B mruns 30 m, C mnuns 29 m.

=<
Ywhen B runs 180 m, © rnuns E

.- B beats C by (180 - 174y M = 6 m.
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RACES S

IV STCEE

At a game of billiards. A can give B 15 points in 60 and A can give C to 20 points in 60. How many points can B give

C in a game of 907

A. 30 points
B. 20 points
C. 10 points
D. 12 points

Answer: Option C
Explanation:
A:B=60:45
A:C=60:40
B B A 45 60 45 SO
c” [:ixa] - (eome ~ 20 8o 080

. B can give C 10 points in a game of 90.
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RACES

In 100 m race, A covers the distance in 36 seconds and B in 45 seconds. In this race A beais B by:

A. 20m
B. 20m
C. 225 m
D. 9m

Answer: Option A
ExXplanation:

100
Distance covered by Bin 9 secC. = [4—5 X g]m =20 m.

. A beais B by 20 metres.
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RACES

In a game of 100 points, A can give B 20 points and C 28 points. Then, B can give C:
A. & points

B 10 points
. 14 points
D

40 points

Answer: QOption B
Explanation:

ATB =100 80.

AT C=100:T2.
B _ Exﬂ B ELEI;{1EIEI —E—mﬂ—mn-gn
c !l L1100 72l o  ao ' ]

B can give C 10 points.
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RACES

In a 200 metres race A beats B by 35 m or 7 seconds. A's time over the course is:

Fa A0 seC
B. A7 seC
. o SeC

D. MNone of these

Answer: Option C
Explanation:

B runs 35 min f sedcC.

i
- B covers 200 m in [E g EDD] = 40 secC.

B's time over the course = 40 sec.

- AYs time over the course (40 - 7) sec = 33 sec.
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RACES

Ina 100 m race, Acan beat B by 25 mand B can beat C by 4 m. In the same race, A can beat C by:
A. 21 m

B. 26m

C. 28m

D. 29m
Answer: Option C
Explanation:
A:B=100:75

B:C=100:96.

e | D] —e| 2 AR O Yoh-Th
R S S T I R T a6 | - pes

. A beats C by (100 - 72) m = 28 m.
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RACES

Imn a race of 200 M, A can beat B by 31 m and C by 18 m. In a race of 23220 m, O will beat B by:
AL 2273 M

B. 25 m

. 19.2 m

Answer: Option B
Explanation:

AT B =200 1689,

AT C =200 182,
C _ (S, Ay _ (182 200V _ ... ..o
B LA B | 200 169 ) ' '

WwWhen C covers 182 m, B covers 1659 m.

159
YWihen C© covers 320 m, B covers E = SEDjr‘ﬂ = 325 Im.

Therefore, C beats B by (3520 - 325y m = 25 m.
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RACES

Ina 300 m race A beals B by 22.2 m or b seconds. B's time over the course 1s:

A. ©b sec
B. &0 secC
C. 7o sec
D. MNone of these

Answer: QOption B
Explanation:

A5
B runs ? min & sec.

2
B covers 300 m in [53{ a5 x SDD]SEE = 80 secC.
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THANK YOU
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